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     Naguib Mahfouz Integrated                                                 Primary Three –Sheet (1)

     Language School.                                                                             First Term.

English Staff.                                                        
A. Underline the correct words in brackets:
1-Nader is (read- reads- reading) a new story.

2-What (am – is – are) the cat doing?

3-The baby (sleep – is sleeping – sleeps) at the moment.
4- The children (am – is – are) drawing under the tree.

5- We (leaving – left – are leaving) for school now.

6- (Am – Is – Are) Omar wrapping a present.
7- It’s (Rana’s – Rana – Ranas’) birthday.

8- I (has – have – am) two toys.

9- (When – Where – What) is he going? – He is going to school.

10- (When – How – What) is he going to school? – by taxi.

B.Supply the missing letters:
         Bal-oon                         wr-p 
          B-rthday                          r-bbon

           b-w                                   pres-nt    
C.Rewrite the sentences using the words in brackets:
1- She can ride a bike. She can’t ride a horse.                  (but)

……………………………………………………..

2- Yes, I am reading a story.                                               (Are)
……………………………………………………..

3- I have got two sisters.                                                      (not)

……………………………………………………..

4- She is drawing a tree now.                                              (What)

……………………………………………………..

5- They are cleaning their house.                                         (not)

……………………………………………………...
6- He can go to the cinema at 7 o’ clock.                             (When)
……………………………………………………....
D. Supply the missing parts in the following dialogue:
Ali    : Happy birthday, Nada.

Nada:………………………….

Ali    :………………………….?

Nada: Today, I am eight years old.
                                                                   
